              

Answer the following maths problems. 
1. Hannah is having a party and she has invited 14 friends. She wants to get enough cakes and sweets for everyone to enjoy so she is going shopping with her mum later. Mum says that they need to buy three cakes for every child including herself and they needs a small bag of sweets for each child too; including Hannah. There are 6 cakes to a packet. How many packets of cakes do they need to buy?

If there are 5 small packets of sweets in one large packet; how many packets of sweets do they need to buy?

If the packets of cakes cost £2.99 each and the packets of sweets cost £2.89 how much will they spend?

Hannah’s mum pays with two £20 notes; what change does she get?

2. Paul wants to see if he can fit a new desk into his room. His room is 4m and 30cm by 3m 20cm. He has a bed in the middle of his room against one of the longest walls and has wardrobes all across the opposite wall. There is a window on the other side and a radiator underneath. So the desk would have to fit on the other wall. There is a door on the other wall and that is 20cm away from the wall and measures 1m across. The desk he wants is 1m 50 cm long. Will it fit on this wall?
3. Sarah has been saving to buy a new dress for her best friend’s party. She has saved £15 so far and  she gets £5 a week pocket money. The dress costs £38.50. How much longer does she need to save for? Will she have any money left over? How much?

4. Lucas likes model cars and he has 46 in his collection so far. It is the end of February now and he is buying 2 cars a week. How many cars will he have by Christmas?

5. A rectangle has an area of 30cm². If one side is 6cm; what is the length of the other side? What is the perimeter?
6. If the perimeter of a square is 32cm; what is the area?

7. Peter spent £27.56 on shopping, £38.29 on a new kettle and an additional £15 on a DVD; how much did he spend in total? He paid with two £50 notes; how much change did he get? 

8. Ivana invited 28 people to her party. If a quarter of the guests are female relatives and further seventh are boys; how many girls who are not relatives did she invite?

9. Laura gave ⅝ of her sweets to her mum to keep for her and she ate the rest.  If she ate 12 sweets; how many did she have to start with?

10.  John has been asked to buy some new pencils for his class. There are 34 children in the class (including him) and he has been asked to buy 2 pencils for each child. If the pencils come in packs of 6; how many packs will he need? Will there be any pencils left over?

If a pack costs £1.99; how much will John need to spend? If John is given £30 to spend; how much change will he get?

Answer Sheet

1. a) 8 packets of cakes, 



b) 3 packets of sweets, 



c) Cost £32.59



d) Change £7.41

2. Yes, it fits exactly between the door and the wardrobe.

3. a) 5 weeks



b) £1.50 left over

4. 132 (8 weeks from 1/1 to 26/2 and 1 week after Christmas means




52-9 weeks = 43 weeks, so 86 cars, 46 + 86 = 132)

5. a) 5cm



b) 22cm

6. 64cm

7. a) £80.85



b) £19.15

8. 17 (28 – (7+4)

9. 32 sweets

10. a) 12 packs




b) 4 left over




c) £23.88




d) £6.12
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